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Medians, Altitudes, and Right Bisectors of a Triangle
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Ex. 1. AABC has vertices A(3, 4), B(-5, 2) and C(1, -4). Determine an equation for CD, the median
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Ex. 2. AABC has vertices A(3, 4), B(-5, 2) and C(1, -4). Determine an equation fory GH, the right
bisector of AB
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 Ex. 3. AABC has vertices A3, 4), B(-5, 2) and C(1, -4). Determine an equation for CE, the altitude
from C to AB.
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_ O Ex. 4 The points A(-3, 4) and B(5, 0) are endpoints of a chord of a circle with centre (0, 0) and
- radius 5. Verify that the centre of the circle lies on the right bisector of this chord.
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